






Alan,
 Good to hear from you.  An interesting problem and one that some of colleagues are also attempting to 

work on, specifically irrigation system improvement in the upper Mekong River catchments, through recent ACIAR 
funded projects.

Confirming discharge of 300 cumecs, which you probably understand to be 300,000 Litres/second (6.85x10^9 
USgallons/day)?  Your “300 cumecs x 24/7/30.5” (300 cumecs for three months) would actually be  300×3600× 
24× 30.5 = 790.6 GL.   Pipe diameter designs would need to start at 10 metre diameter, and increase for a 
reduction in energy consumption pending some hydraulic design.

While not having completed an extensive study of all the information you have provided, I believe there to be 180 
metres of static lift and at least 62 km of tunnel, which may give you at least 800 metres of TDH (total dynamic 
head).

If that were the case, then you would be looking at something like 2.7 million MW.h of energy to shift that volume 
of water each year.

I trust that assists you in some way to understand your challenges.
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